
Eléments	
  de	
  correction	
  du	
  TG	
  n°2	
  –	
  S8	
  –	
  SES	
  février	
  2016	
  –	
  Fustel	
  –	
  Mme	
  Galy	
  
	
  

1) Décrivez	
  cette	
  photo	
  (sans	
  interpréter,	
  efforcez-­‐vous	
  de	
  rester	
  factuel	
  et	
  d’être	
  le	
  plus	
  
précis	
  possible).	
  

	
  
C’est	
  la	
  photo	
  de	
  la	
  couverture	
  du	
  carnet	
  de	
  santé	
  du	
  département	
  des	
  Bouches-­‐du-­‐Rhône	
  (13).	
  

On	
  y	
  voit	
  une	
  photo	
  mettant	
  en	
  scène	
  2	
  enfants	
  de	
  6-­‐8	
  ans,	
  un	
  garçon	
  brun	
  aux	
  cheveux	
  courts,	
  
souriant,	
  portant	
  un	
  polo	
  bleu,	
  mettant	
  sa	
  main	
  au-­‐dessus	
  de	
  sa	
  tête	
  comme	
  pour	
  se	
  mesurer	
  en	
  se	
  
grandissant.	
  A	
  coté	
  de	
  lui,	
  légèrement	
  derrière,	
  on	
  voit	
  une	
  fillette	
  blonde	
  aux	
  cheveux	
  longs,	
  vêtue	
  
d’une	
  robe	
  (ou	
  d’un	
   t-­‐shirt	
   trop	
  grand	
  pour	
  elle).	
  Elle	
  est	
  en	
   train	
  de	
  mesurer	
  son	
   tour	
  de	
   taille	
  
avec	
   un	
  mètre	
   de	
   couture,	
   elle	
   a	
   la	
   tête	
   baissée	
   pour	
   voir	
   la	
  mesure	
   et	
   passe	
   la	
  main	
   dans	
   ses	
  
cheveux.	
  Elle	
  semble	
  être	
  préoccupée	
  ou	
  au	
  moins	
  absorbée	
  par	
  la	
  mesure	
  de	
  son	
  tour	
  de	
  taille	
  au	
  
point	
  de	
  ne	
  pas	
  prêter	
  attention	
  au	
  photographe.	
  
	
  

2) Quels	
  sont,	
  selon	
  vous,	
  les	
  arguments	
  de	
  ceux	
  qui	
  ont	
  jugé	
  ce	
  carnet	
  de	
  santé	
  sexiste	
  ?	
  
	
  

Ceux	
  qui	
  ont	
  dénoncé	
  cette	
  illustration	
  du	
  nouveau	
  carnet	
  de	
  santé	
  des	
  Bouches-­‐du-­‐Rhône	
  
ont	
  sûrement	
  été	
  choqués	
  par	
  le	
  fait	
  qu’on	
  assigne	
  à	
  la	
  fille	
  le	
  soucis	
  de	
  son	
  tour	
  de	
  taille,	
  donc	
  de	
  
sa	
   ligne	
  ou	
  de	
  son	
  poids	
  pendant	
  que	
   le	
  garçon	
  est	
  représenté	
  comme	
  voulant	
  se	
  grandir	
  et	
  se	
  
préoccupant	
   de	
   sa	
   grandeur.	
   Pourquoi	
   cette	
  mise	
   en	
   scène	
   réduit	
   la	
   santé	
   des	
   enfants	
   à	
   leurs	
  
mensurations	
  ?	
  Et	
  pourquoi	
  la	
  question	
  du	
  poids	
  est	
  attribué	
  à	
  la	
  seule	
  fille	
  ?	
  Le	
  sexisme	
  découle	
  
du	
   fait	
   que	
   cette	
   différence	
   de	
   rapport	
   au	
   corps	
   désavantage	
   et	
   infériorise	
   les	
   filles	
  :	
   ces	
  
dernières	
   doivent	
   se	
   rendre	
   désirables	
   (corps	
   objet	
   du	
   désir	
   des	
   hommes,	
   passivité,	
  
vulnérabilité)	
  pendant	
  que	
  les	
  garçons	
  doivent	
  veiller	
  à	
  être	
  fort	
  (puissants,	
  dominants,	
  actifs).	
  
	
  

3) Quels	
  effets	
  pourraient	
  produire	
  cette	
  photo	
  sur	
  les	
  enfants	
  ?	
  
	
  

Par	
  imprégnation	
  ou	
  identification	
  inconsciente,	
  cette	
  photo	
  envoie	
  un	
  message	
  aux	
  enfants	
  
possédant	
   ce	
   carnet	
   de	
   santé	
  :	
   «	
  Toi	
   petite	
   fille,	
   il	
   est	
   normal	
   de	
   te	
   préoccuper	
  de	
   ton	
  poids	
   dès	
  
l’enfance,	
   et	
   tu	
   dois	
   faire	
   attention	
   à	
   ton	
   tour	
   de	
   taille	
   donc	
   à	
   ton	
   poids.	
   Toi,	
   petit	
   garçon,	
  
préoccupe-­‐toi	
   de	
   bien	
   grandir	
   pour	
   être	
   grand	
   et	
   fort	
   plus	
   tard,	
   cela	
   te	
   rendra	
   heureux	
  ».	
   On	
  
pourrait	
   imaginer	
   que	
   cela	
   suscite	
   des	
   complexes	
   chez	
   des	
   enfants	
   ne	
   répondant	
   pas	
   à	
   ces	
  
critères	
   de	
   taille,	
   que	
   cela	
   incite	
   précocement	
   des	
   enfants	
   à	
   se	
   soucier	
   de	
   l’esthétique	
   de	
   leur	
  
corps	
  (sexualisation	
  précoce	
  du	
  corps),	
  à	
  les	
  inviter	
  à	
  répugner	
  le	
  surpoids	
  («	
  grossophobie	
  »)	
  et	
  
à	
  ne	
  pas	
  accepter	
  (pour	
  eux	
  ou	
  autrui)	
  des	
  corps	
  différents.	
  
	
  

4) (§AEI)	
   Montrez	
   que	
   les	
   stéréotypes	
   de	
   genre	
   sont	
   à	
   la	
   fois	
   cause	
   et	
   conséquence	
   de	
  
rapports	
   au	
   corps	
   distincts	
   entre	
   les	
   femmes	
   et	
   les	
   hommes	
   (en	
   moyenne	
   et	
  
inconsciemment	
  surtout).	
  
	
  

Les	
  stéréotypes	
  de	
  genre	
  sont	
  à	
  la	
  fois	
  cause	
  et	
  conséquence	
  de	
  rapports	
  au	
  corps	
  distincts	
  
entre	
   les	
   femmes	
   et	
   les	
   hommes.	
   Visiblement	
   ce	
   sont	
   ces	
   stéréotypes	
   qui	
   ont	
   influencé	
   le	
  
concepteur	
   de	
   cette	
   couverture	
   du	
   carnet	
   de	
   santé.	
   Pourquoi,	
   spontanément	
   n’a-­‐t-­‐il	
   pas	
  mis	
   en	
  
scène	
   un	
   garçon	
  mesurant	
   son	
   tour	
   de	
   taille	
   et	
   une	
   fillette	
   se	
   toisant	
  ?	
   Parce	
   que	
   cela	
   est	
   non	
  
conforme	
  aux	
  stéréotypes	
  :	
  les	
  femmes	
  se	
  doivent	
  d’être	
  mince	
  pour	
  être	
  féminine	
  et	
  les	
  hommes	
  	
  
grands	
  pour	
  être	
  virils,	
   c’est	
   la	
  norme.	
  Ainsi,	
   ce	
   sont	
  bien	
  des	
   stéréotypes	
  genrés	
  qui	
  ont	
  guidé,	
  
sûrement	
   à	
   son	
   insu	
   (on	
   l’espère),	
   le	
   photographe.	
   Mais,	
   à	
   son	
   tour,	
   ce	
   type	
   de	
   photo	
   peut	
  
renforcer	
   les	
   stéréotypes	
   de	
   genre	
   dans	
   l’esprit	
   des	
   individus,	
   et	
   ici	
   notamment	
   des	
   enfants	
  
possédant	
   ce	
   carnet.	
   Sans	
   y	
   prêter	
   attention,	
   les	
   enfants	
   pourraient	
   s’identifier	
   à	
   cette	
  
représentation	
  du	
  rapport	
  au	
  corps	
  bien	
  distincts	
  de	
  ces	
  deux	
  enfants	
  et	
  intérioriser	
  cette	
  norme	
  :	
  
une	
  «	
  vraie	
  »	
  fille	
  doit	
  se	
  préoccuper	
  de	
  son	
  poids,	
  c’est	
  normal/évident,	
  un	
  «	
  vrai	
  »	
  garçon	
  non.	
  
	
  


